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 5�C�%C���	�
	����  SDSM ก��	�@�2��	57A��Fก>��
1:��	�ก	

��ก�� ���B	�����	ก	D
����I%�%  (stochastic) ��1 �%&�ก	
I�I�"  (regression) 5�6����	ก
F7���ก	
:�P�5��"��B	����
�	ก	D3��5ก�3:K���1C�	����7
 ��C�	�46?�3��

"	ก	D57A��������Z�"�
�ก��C�	�	
	�%5��
N
 �����
	�����5ก�
1����2��I%��  7[��P����%&�ก	
���	�
	�����	�ก�@ก� ��  SDSM IFก��	@73423�
�	��P�P�%"��%�"	  4�7
1�	�  �2	��%������2��  ��13��	��2	�BF�%D	��
N��?�3����7"PZ
7  �5�
%ก	
5:�6� ��15�54�"�1�����ก5G�"�3�2 
 
  �?����ก	
��	�	� �������	��� SDSM ������ก��	�@�2��2�ก���:�2	��?��2���	ก	
���	�
	
��������I%�% ���B	�����	ก	D
	"���  3:25:�6�5��"�  7  �?���� <=���P�7
1��CNก	
��	�	���?� 7 
 �?�����������? 

 (1) ก	
C��CP�CPQB	���� 2��F� 
�I	������?�	!���	����2�"�	ก����� 2��F�5�
J��%?����F
QN 100% :
6��� 2��F�IFก�2��:�� ก	


���ก	
ก�� 2��F����:	"@7��1����ก�
�����C�	���	57A�3��	�7L%���%�"�	��	ก ก	
C��CP�CPQB	����
 �� 2��F���	@�2Z�"ก	
 ก	
��	C�	 2��F�!������	ก	
5�%� 2��F�5
�"�
2�"��2� 3:2�����	���SDSM ��	
ก	
�
����� Z�"�����	����1��	ก	
�%5C
	1:N C�	���	�P� C�	�F��P� C�	5G���" ��	������
��267̂ 
(C.D. 1976-C.D. 2001) ��ก��?��
�������	��ก	
 	�:	" 2�� 2��F��2	�:
6�@�� 

 (2) ก	
C��ก
������7
NCEP ��	:
��ก	
��	�	"ก	
���	�
	���� 
�P�7
1��CN:��ก ��ก	
��	�	�ก	
C��ก
������7
C6��14��"3:25�6�กC�	�5:�	1�� �����

�7
�����	�	"���ก	
���	�
	����3�ก	
C��ก
���1�%�	
Q	C�	���7
1�%�&%d�:������&N�"ก���� 
(partial correlation) <=��57A�ก	
:	C�	���	C�K
1:��	�����7
 NCEP �����?�ก��!�
	" ���I	�����
�%�	
Q	 <=��IFกC��CP�Z�"����7
 NCEP ����6��H  ��������	���SDSM C�	��Q@�2<=��3������	���
��	5��"�C
�?�5��"� 

   (3) �����	���7
��5��"� 
 �����	����1��	ก	
C�	��Q����7
 ����ก	
ก	
I�I�":�	"C
�?�5�6��3:2@�2>�������P� 

1:��	��I	������%�	
Q	��1����7
 NCEP ���>�	�ก	
C��ก
����2� <=�������	���@�2��	ก	
���	�
	
�����	ก
1���Z�ก�	57A�
1����2��I%����2� ��1�15กJ� 2��F�@�2 5�6��3423�ก	
���5C
	1:N���@7 

 (4) ก	
���5C
	1:N 2��F�  
 ก	
��	�	� ��ก	
���5C
	1:N�	ก	D�1�
2	���?�4P� ���	ก	D7
1��	������5C
	1:N<=���157A�
57A���Pก
�5!f	���5ก� (:
6� NCEP reganalysis) ����7
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��	�	"5ก��"�ก���
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ก	
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%� �������	���7
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���5C
	1:N ��5��	���P�%<=��57A�
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��Pก
���	:
�������B	�1�	ก	D�	�i�Fก	�Z�"�����	���7
��5��"� ��1 SDSM �1546���Z�"ก	

��	�	"��?�:��Z�"���Z����% ก	
���5C
	1:N!��1����ก	
���5C
	1:N ��ก57A�24���5��	�2�"ก�� C6� 7̂ 
C.D. 1976-1990 (157̂) ��	:
��ก	
7
��5��"���1�	ก7̂ C.D. 1991-2001 (117̂) ��	:
�����C�	�
��5:�P��>� �������	��� SDSM <=�������	����� 2���	ก��3�ก	
���5C
	1:N 2��F�@�2�F��P� 100 
4P� 2��F� 3�ก	
���5C
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���5C
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�?� 5�6��3:2@�2C�	����15��"� 
���ก	
��	 @7��	ก	
�%5C
	1:N 2��F����@7  
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  �?������?� 7  �?���� �������	��� SDSM  2	��2���?�	�	
I342@�2����� �?������� (2) @�2��	
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7
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4.2 �%&�ก	
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�� 2��F� NCEP �����	5��� 
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C��ก
������7
 C6� 5�6��4��"3�ก	
5�6�ก4P�����7
 NCEP �����C�	�
5:�	1��ก��!�
	"��� ���I	�������	ก	
�%�	
Q	 3�ก	
C��ก
���1�%�	
Q	C�	���7
1�%�&%d
�:������&N����"ก���� (partial correlation) <=��57A�ก	
:	C�	�������&N
1:��	�����7
 NCEP ���
��?�ก��!�
	"���
	" ���I	������%�	
Q	Z�"IFกC��CP��2�"����7
 NCEP ����6��H  

�	กB	���� 4.2 ����I=� �?���� ��ก	
C��ก
��4P�����7
 NCEP �2�"C�	���7
1�%�&%d
�:������&N����"ก����ก��	�C6�:����	ก��	ก	
5�6�ก�I	��5�6���%�	
Q	��2� ��	ก	
5�6�ก4P�����7
 
NCEP �	���	��� (�	
	���� 4.1) C
�?��1 12��� ��C
���?� 26��� 5�6��:	C�	���7
1�%�&%d�:������&N���
�"ก����:����	ก�����	���SDSM@�2��	ก	
C�	��Q:	C�	���7
1�%�&%d�:������&N����"ก����C
�
��?� 26 ��� ����1@7��	4P�����7
 NCEP �����C�	���7
1�%�&%d�:������&N����"ก�������57A���C�	57A���ก
�	�%�	
Q	��?�:��<=��5�6����	����7
NCEP �����C�	���7
1�%�&%d�:������&N����"ก���� �����C�	57A���ก
�	�%�	
Q	��กC
�?�ก������7
NCEP ����6�����57A���ก5:�6��ก�� กJ�	�@�2C�	���7
1�%�&%d�:������&N
����"ก���������C�	57A���@�2�=��2����	ก	
C��ก
������7
3:����1��	ก	
C������7
�����C�	
���7
1�%�&%d�:������&N����"ก�����%�����ก ��2�3������7
 NCEP ����6��5 2	@7�����	��@�2C�	
���7
1�%�&%d�:������&N����"ก����  ��4P�����7
 NCEP �����C�	57A���ก��?�:����13:24P�����7
 
NCEP 4P���? 57A�ก
Q����1 5�6��@�24P�����7
 NCEP 4P��
ก�����C�	���7
1�%�&%d�:������&N����"ก�������
��C�	57A���ก��?�:����2� กJ��	ก	
C��4P�����7
NCEP �����C�	���7
1�%�&%d�:������&N����"ก����ก�P��
�2�"��ก��2�กJ3:24P�����7
 NCEP 4P���?�57A�ก
Q����2 ��	ก	
C��4P�����7
 NCEP 54��5�%�@7��5:�6�
4P�����7
 NCEP �����C�	���7
1�%�&%d�:������&N����"ก���� ����"F�3�ก�P���	ก����P� ��13:24P�����7
 
NCEP 4P���?�57A�ก
Q��P��2	" 
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  �	กก	
5�6�ก4P�����7
 NCEP ���@�2�	3�����1ก
Q� ��	@�2Z�"ก	
57
�"�5��"��F��	ก
Q�3� ��
C�	���	C�Kก��!�
	"����I	������%�	
Q	�	ก����P� ก	
57
�"�5��"� �1��	ก	
:	4P�����7
 NCEP ���
����"��	C�K���!�
	"����I	������?�	!�
	"������3423�ก	
D=กE	�	ก����P�Z�"�1����ก	
57
�"�5��"� 
��ก57A� 2 4���5��	�2�"ก�� C6�
1:��	�7̂ C.D. 1976-1990 (157̂) ��	:
��ก	
7
��5��"� (calibrate) 
��1
1:��	�7̂ C.D. 1991-2001 (117̂) 5�6����	ก	
���C�	���5:�P��>� (validate) Z�"ก	
���
C�	���5:�P��>��1IFก��	�	3425�6��@���	�	
I5�6�ก4P�����7
NCEPก
Q�3�@�23�4��� 2��F�
7
��5��"� 

ก	
7
��5��"���1���C�	���5:�P��>� �������	��� SDSM ��?�1��	ก	
57
�"�5��"�

1:��	�CPQ��กEQ1�	��I%�% ��!�
	"��� [C�	5G���" (mean), C�	C�	��7
7
�� (variance), C�	
C�	�5�2 (skewness)] ���C�	��Q@�2ก�� 2��F�!����� 5กQsN���3423�ก	
:	4P�����7
 NCEP ���
5:�	1��ก��!�
	"��� ���I	����	�H �� 3 5กQsN�2�"ก�� @�2�ก�5กQsN ��5 �:�=��4��� ��C�	�

5���"�5���	�
t	� (one-standard deviation bound), 5กQsN�C�% (bias criterion,β ) ��1 5กQsN

	ก������ ��C�	�C�	�5C�6���ก�	������5G���" (root mean square error, RMSE) <=�����%"	� �����
�15กQsNC6� 

5กQsN ��5 �:�=��4��� ��C�	�5���"�5���	�
t	� 57A�5กQsN���������	�:��� ��ก	

ก
1�	" �� 2��F�����%�	
Q	��	CPQ��กEQ1��	�H  ��!�
	"������@�2C�	��Q@�2�	�	
I5��"����
 2��F�!�
	"�������@�2��:
6�@�� ก��	�C6�:	ก��	CPQ��กEQ1��	�H  ��!�
	"�����������	��� SDSM 

C�	��Q@�2 �"F�3� ��5 �:�=��4��� ��C�	�5���"�5���	�
t	�, µ±σ (5�6�� µ ��1σ C6�C�	5G���"

��1����5���"�5���	�
t	� ��CPQ��กEQ1�	��I%�% ��!�
	"������C�	��Q $y  �� y) กJ:�	"C�	�
��	 �����	��� SDSM �	�	
I5��"����CPQ��กEQ1�	��I%�% ��!�
	"�������, y @�2�� Z�"�1��	
ก	
57
�"�5��"�57A�5�6��H :	ก5�6��3�C�	5G���" ��CPQ��กEQ1�	��I%�% ��!�
	"������C�	��Q@�2
�"F�3� ��5 �:�=��4��� ��C�	�5���"�5���	�
t	�กJ3:2���5�6����?�57A� 1C1��� 

5กQsN�C�%57A�ก	
���C�	�C�	�5���"�5�� ��CPQ��กEQ1�	��I%�% ��!�
	"������C�	��Q
@�2�	ก�����	��� SDSM ก�� 2��F�!�
	"������� �����	ก	
 4.1  

 
$=  - yy β Ε                                (4.1) 

 
:	กC�	�C�%��C�	�2�"������	CPQ��กEQ1�	��I%�% ��!�
	"������C�	��Q@�2�	�	
I

5��"����CPQ��กEQ1�	��I%�% ��!�
	"�������@�2��3��	�ก���ก��:	กC�	�C�%��C�	�	ก������	
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CPQ��กEQ1�	��I%�% ��!�
	"������C�	��Q5��"����CPQ��กEQ1�	��I%�% ��!�
	"�������@�2@����
�� 

5�6��C�	��QC�	�C�%��2�กJ�1��	ก	
�����	�����13:2C1��� ����1ก
Q���	ก
Q�3�57A�ก
Q������
����P� Z�"5��"�57A�����15�6�� ������1ก
Q� ก��	�C6�:	ก3�5�6����?�3�ก
Q�3������C�	�C�%C�	:�	�
�	กC�	DF�"N�	ก����P�57A�ก
Q�����"�����P� Z�"3:2C1���57A� 1 C1��� ��1C�	�C�%
�����	กJ3:2
C1��� 2 ��13�	���	���@7 5
6��"H <=��ก
Q����3:2C�	�C�%5 2	3ก�2C�	DF�"N�	ก����P� �157A�ก
Q����������P� 
Z�"�	�	
I�F5กQsNก	
3:2C1���@�23��	
	���� 4.1 �������ก	
3:2C1��� ��5กQsN�C�%��15กQsN
5กQsN
	ก������ ��C�	�C�	�5C�6���ก�	������5G���" 
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